Click number attached to the part
or the part numbers on the next
pages to link to other parts, some
parts may have no link

0
U

G T o
OO0

2T
IO

AF
&

2
4
Mé -
1
EF PART NO. DESCRIPTION QTY REF PART NO. DESCRIPTION QTY
33636 Chute Swing Assembly
1 14478 Chain, Chute Swing, #80.........c.......... 10FT 10 19086 Washer, Flat, 5/8 A325 ........ccccvvvvveeens 18
2 11709 Spring, Chain Drive.........c.cccccoeeeeenneen. 1 1" 19351 Nut, Auto Style, 5/8-11, GRC .............. 9
3 14481 Link, Chain, Connector, #80 ............... 2 12 12651 Gearbox, Chute Swing,
4 22946 Tensioner, Chain, Adjustable Bolt....... 1 HF G430, TULSA........ovvvveveeeeeeeeeeee 1
5 14480 Sprocket, Chute Swing #H80Q19....... 1 13 19121 Bolt, HHCS, 5/8-11 X 2-1/2, GRS........ 4
6 30088 Key, Bushing, CHT Swing, 14 33405 Motor, HYD Chute Swing,
B/8” X 2-1/4" oo 1 Eaton,5.9 Cl....ccccvvvveeiiiieiieieeeeeeeeee, 1
7 16874 Bushing, Browning Split Tap................ 1 15 19113 Bolt, HHCS, 1/2-13 X 1-1/2, GRS ....... 2
8 33380 Plate, Chute Swing Gearbox MNT ..... 1 16 19030 Washer, Split Lock, 1/2 Z/P................. 2
9 19156 Bolt, HHCS, 5/8-11 X 1-3/4, 17* 12203 FTG, ST THRD O-Ring,
PF,GRS8.....ooo i 5 90° EL, JIC 8-10 ..evveeeeeeceeeeeeeeenn 2

*ITEM 17 1S NOT SHOWN IN THE ILLUSTRATION
WHEN ORDERING PARTS, SPECIFY MODEL NUMBER, SERIAL NUMBER AND DESCRIPTION OF PARTS REQUIRED

DATE: Released 01-2016 | GROUP

TEREX. CHUTE SWING VODEL: 7 9

PAGE: 9.6



http://www.mixerandplantparts.com/Mixer-Chute-Swing-Chain-80-Per-Foot-p/14478.htm
http://www.mixerandplantparts.com/Mixer-Chute-Swing-Chain-80-Per-Foot-p/14478.htm
http://www.mixerandplantparts.com/Chute-Swing-Chain-Spring-p/11709.htm
http://www.mixerandplantparts.com/Chute-Swing-Chain-Spring-p/11709.htm
http://www.mixerandplantparts.com/Mixer-Chute-Swing-Chain-80-Master-Link-p/14481.htm
http://www.mixerandplantparts.com/Mixer-Chute-Swing-Chain-80-Master-Link-p/14481.htm
http://www.mixerandplantparts.com/Chute-Swing-Chain-Tensioner-Adjustment-Bolt-For-14-p/22946.htm
http://www.mixerandplantparts.com/Chute-Swing-Chain-Tensioner-Adjustment-Bolt-For-14-p/22946.htm
http://www.mixerandplantparts.com/Terex-Advance-Sprocket-19-Tooth-p/14480.htm
http://www.mixerandplantparts.com/Terex-Advance-Sprocket-19-Tooth-p/14480.htm
http://www.mixerandplantparts.com/Terex-Advance-3-8-X-2-1-4-Chute-Swing-Sprocket-K-p/30088.htm
http://www.mixerandplantparts.com/Terex-Advance-3-8-X-2-1-4-Chute-Swing-Sprocket-K-p/30088.htm
http://www.mixerandplantparts.com/Browning-Q1X1-1-2-Split-Taper-Bushing-For-12651-Ch-p/16874.htm
http://www.mixerandplantparts.com/Browning-Q1X1-1-2-Split-Taper-Bushing-For-12651-Ch-p/16874.htm
http://www.mixerandplantparts.com/Bolt-HHCS-5-8-11-x-1-3-4-Grade-8-p/19156.htm
http://www.mixerandplantparts.com/Bolt-HHCS-5-8-11-x-1-3-4-Grade-8-p/19156.htm
http://www.mixerandplantparts.com/Terex-Advance-Washer-Structural-5-8-ASTM-A325-PF-p/19086.htm
http://www.mixerandplantparts.com/Terex-Advance-Washer-Structural-5-8-ASTM-A325-PF-p/19086.htm
http://www.mixerandplantparts.com/Terex-Advance-Washer-Structural-5-8-ASTM-A325-PF-p/19086.htm
http://www.mixerandplantparts.com/Terex-Advance-Washer-Structural-5-8-ASTM-A325-PF-p/19086.htm
http://www.mixerandplantparts.com/Terex-Advance-Washer-Structural-5-8-ASTM-A325-PF-p/19086.htm
http://www.mixerandplantparts.com/5-8-18-Locknut-p/19351.htm
http://www.mixerandplantparts.com/5-8-18-Locknut-p/19351.htm
http://www.mixerandplantparts.com/5-8-18-Locknut-p/19351.htm
http://www.mixerandplantparts.com/Tulsa-Winch-81095-HFG430-Chute-Swing-Gearbox-p/12651.htm
http://www.mixerandplantparts.com/Tulsa-Winch-81095-HFG430-Chute-Swing-Gearbox-p/12651.htm
http://www.mixerandplantparts.com/Terex-Advance-Bolt-HHCS-5-8-11-X-2-1-2-Pf-Gr8-p/19121.htm
http://www.mixerandplantparts.com/Terex-Advance-Bolt-HHCS-5-8-11-X-2-1-2-Pf-Gr8-p/19121.htm
http://www.mixerandplantparts.com/Terex-Advance-Bolt-HHCS-1-2-X1-1-2-Po-Gr8-p/19113.htm
http://www.mixerandplantparts.com/Terex-Advance-Bolt-HHCS-1-2-X1-1-2-Po-Gr8-p/19113.htm
http://www.mixerandplantparts.com/Washer-Split-Lock-1-2-p/19030.htm
http://www.mixerandplantparts.com/Washer-Split-Lock-1-2-p/19030.htm
http://www.mixerandplantparts.com/Terex-Advance-Fitting-St-Thrd-O-Rng-90Deg-El-Jic-8-p/12203.htm
Chris
Highlight




